2°C

Temperature changes can be kept to less
than 2 °C if atmospheric concentrations iIn
2100 remain below 450 ppm CQO2eq.

This would require lowering global GHG
emissions by 40 % to 70 % by 2050
compared to 2010 levels

No additional mitigation could result in
global mean surface temperature
Increases in 2100 from 3.7 °C to 4.8 °C

compared to pre-industrial levels

From 2010 1000 billion tonnes of CO2
could still be released with a 50:50 chance

of keeping temperature increases below
2°C. Over 40 years, this would average 3.65
tonnes per capita per year.

SOURCE:IPCC, 2014: Summary for policymakers. In: Climate Change 2014: Impacts, Adaptation, and Vulnerability. Part A:
Global and Sectoral Aspects. Contribution of Working Group Il to the Fifth Assessment Report of the Intergovernmental
Panel on Climate Change [Field, C.B., V.R. Barros, D.J. Dokken, K.J. Mach, M.D. Mastrandrea, T.E. Bilir, M. Chatterjee,

K.L. Ebi, Y.O. Estrada, R.C. Genova, B. Girma, E.S. Kissel, A.N. Levy, S. MacCracken, P.R. Mastrandrea, and L.L. White
(eds.)]. Cambridge University Press, Cambridge, United Kingdom and New York, NY, USA, pp. 1-32.



